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def quicksort(arr):
#
if len(arr) <= 1:

return arr

# ) (

pivot = arr[0]

#

# 1.

# 2.

# 3.

less = [x for x in arr[1:] if x < pivot]
equal = [x for x in arr if x == pivot]

greater = [x for x in arr[1:] if x > pivot]

# Quicksort

return quicksort(less) + equal + quicksort(greater)

#
arr = [3, 6, 8, 10, 1, 2, 1]
sorted_arr = quicksort(arr)

print( "o , sorted_arr)
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11, 1, 2, 3, 6, 8, 10]
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def quicksort(arr):
if len(arr) <= 1:
return arr
pivot = arr[len(arr) // 2]
left = [x for x in arr if x < pivot]
middle = [x for x in arr if x == pivotl]
right = [x for x in arr if x > pivot]

return quicksort(left) + middle + quicksort(right)

# Example usage:
numbers = [3, 6, 8, 10, 1, 2, 1]
sorted_numbers = quicksort(numbers)

print(sorted_numbers)
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function quicksort(array) {
// : 0 1
if (array.length <= 1) {

return array;

// ) (

const pivot = array[0];

/7 e -
const less = [];
const greater = [];
for (let i = 1; i < array.length; i++) {
if (array[i] < pivot) {
less.push(array[il);
} else {

greater.push(array[il);

}
}
/7
return quicksort(less).concat(pivot, quicksort(greater));
}
/7

const array = [5, 3, 4, 1, 2];

const sortedArray = quicksort(array); // [1, 2, 3, 4, 5]

égé 130 Jlea stiu 8Jls quicksort 5898 pop JFspdd pia=r 8898 on 83637 oz 8Jg Ledy suelne
o3 weenoo.odys Jeea sl oe b slewEl st soze 0000000 sp 325 00pd1 pe PEUBD BB
8ba b opJl sl osgc‘)uéshéuoeﬂ Do,&‘)&»ﬁ tloo sl a3l epld soelae JI I3t op of 5ol o speoedl (orszall
Up9 P D wlbaBd op Il Bepy bl Jdae golda I000000000000. spepees ose Sedredl sz o
aldgd op I8l gsoz e ole 08l 1 oupog sugs 030 b5l sooe o s pall 8udna . Jald I

éi 8¢ J dzpas Swpagw yul

lol Z3sp0 got sgwd pe omgrse 8bualsws [N s pszeosl o 880 8200 85520 16l ppoop oy elmils
sEJJldgt bl goodass pgsde wlas eall ololzllls s e Beopza depuls s 8ol ot sgae ] op llize !
3 agadl pesd 3 8398J1 sJe solesd of 3oy sle il 6 gzpyn I

3



&3 JlepJlgols]l ol 88 ) sraym sopsge ul

¢ Jlepdl g3 dlowpsg wpodolad 8 gpisler ool e grpal! N0000000000 5 Jw szp5- 8slgE Ssow gl
ol 09l 8o pod Jl ol sl g3l pogad Bdygp psol B spswl Becsln]l oo 88 JJII] spose e s i 38
Szpow Baszop wusgdedup e phtw sl ] g b dzpsedl dgle bl lopl izp 8800k Jeopol Bepilog I Jdaw

J"u*’g..? opocd
Jo ZSJIJQ lu_u‘() S'ZSJéjP

b Jlo ) 8J19s Ity 83111 B bs 521 0p 0 Bgoz i [elupd s go 814 Bgpsdz 8sdcsal 8Js50mp ot zply
el Bl Sozodly Bgerdl wospales Il b ple 1958, 539 w33z sged! op whlzolll 3gplel! Bgodels
BpopJl law ¢ 33 bowo s a0l se spsdl JIUE Oleos wlswl 3lJbls wadue]e Jolo sl uod )l Bl pde uls
oAl sxtl Il 6 lpl By supunl sog Slodys Bl o Jos szlsod Luolps by

laly Jpge Jduno Bl s uages loolyl g laolzols dale JJ lpd yale oo gp ol Jldg Bl o szl Jaz -plle !
3] @pld dga) 8ol 8aszp ol dodia Joz 8buaal dusly Sudag 1als gamdl sl ssluepll B39meal wlolgwls
sepdedl Braunupl

1080195 1paley g B3 Tualy g0 8188 £l o8 e ez o Jopws Basdzl dsdgsal )l pages szl wazw !
Bl pdes s el e Bl sgeboy Olguse sagz logs) Eesle Jesb zzlus op @lilzall law ob 45 Jlgul slsy
2l gl wpadl 81Ubls olodys 5 sl o0 5l 0l Il szl od luplby wgumputll Jeb s sbra sl bl
Sgdosdl pog Shoeldl Jeew lusly sl 3y eusls ealhozly up Jod sladedl sbhogdly g Jlzp Slppdo gl
sl I

‘A‘PJ ‘J Jobo P9CC)J‘ 6‘9 o&ddt )9&\)‘ éCJJI IobéCJJCJ ﬂw—"d

glng' :béd"‘\" ?9CQJI 5.39@9? hggb éd m_lubgély |DQ:JJ ‘J )0.5(‘) &t..g )9QOJ‘ &uJ‘ Iob@uJu |u.ulo S Lo d‘Jut'
obw pluwzll g ela Bl Tasge baoo lusly Baoe w231dd ol sl sl wdlsd Il (gs#iJl gades oo aluziJl
Bebls 13z 80ldp pozodle Ssge ol 13 s bo s hgaldJl blaal) Jgueldo alauzidl de bl old aoza!
seudlE o] sobw 6“9 3390l looiJ 3l g ud"‘éd s bl lpy \5‘9‘5!\5 sbo 6“9 sedyy L oseall

olopwEle pazoll Baszep lopd) Bwdls iz Buldp ploszldle w3l soll pog dosgapew 40303 1) sebes b
SERCNL

g2 23]l sebd sgeagl vp ssuel gl lebgo o luuly aozy ¢ 3ed el tag U3 adag ol Ssdos Eob
pozoll lalezl sl eobus plowzidl g @assall Jop dlad )l ol alizll Bgslpgall ozl Blpaldlo gl s
Iodlelp godo wbygpldlsasgogup Jl g b wlodya lpuly Bl o3l 8pp ep sediodd slt sz wste lpp 38 Jezys
pozodl 930w Jl 129029 6 seuedl Bzololl digl pos sz ol Jgoew ot ssuell sl leg b Il
3ol oligp ostp sllelezd Jouul Bgasd] eos sgaedl udpg ol 5080 1ol st zou2s pozoll gd g3zl

Jo wed ylualdl el $5p 8!



220 770 20b2Jl gb boooJl sle zhus spsJl el adegels ©old Jol 8pop 8Jg0la sl sp3J! g0 8p0p 9ol 11
spolodl 8J1a] Iusly gb 9glas 1969 Bz zoel gl slpdJl Jgo tosssusasl slos ol Jsl ogolussl
Sbg zbus apdJl Sup 305 gzl po 3gduw Bag wleop 8lgels izl up Jwd luuly ©lldgs clpd (gstl law
g2 303 zploow losd gl slzal)] gogdoall zplosws toluae of soguedl 389 wzpus lod 0do wlpop I
Bsepn sgipl ot zhus 3l ool wEgslos wusps ekl Bluade sl spsdl pbzils Bgslaua]l ©zl!
g Jesose

3lad pd s s dl gdlopddl 3op logus 83 69¢

Algo Bsg Dlogal slys pag B3og suaodl sl 3psJl Sup Slogus sgsg 3zl Closl Il Bgussesl 9o ol 884 Jlw]
Slay elgpd sl a3l spbeyp diz sgs wbelsgae Il up wlasdzl ol ldss el o3I o lsldl gslutp] plops 7]
ooyl sgpel ol 8o llgd op &z 88 Aol 581l I gl 83 ol Tezadsadel wgdlusl Jlo 8asgeup ]
g2 s80al sl elp Bl s @yob Jd a0 s60d Sp wlpop sl s30tgs e walodl ool wzs ol 340 sl
ok oleude olpgssagz Jodssgl sl spddl digtl Ao ldgl popw Szl Jsz spgaliberle B pels
8392 JJ eJl 0pdJl 38w g o welal ool vz of 390 103w op 403 ele Bluade sl olozs szl Jop Eesp!
gl sooge el iaza lsayg yedl hlae

Jo Jopzaus sl 8318 Bl g S Jose el

e Jpozedl ol soung sgabe plizesuls g ls BlboJl olodse ) beoli salgsl b . Jodooall Jap o sgael op
oldyal olsbyrg c")ltgfy ledlz sde sgobe sloogly algyge olodyp B eold Ssl gl jogwg 030 wlgyde
g loalsge sl Je Bl gb wlslsgl Bssazp £p9 s op el suoall o Jle sop Bty pog s 3 b
030 g ol 1)s Jlig e sgsedl op @lgszadl ologels ssudl goll wzg wltadl gl Jod ol zooes
elodyp B gols 531651 g ulo ol pnepl I 831 S1 10 JLd )3 op zaopdl ol sposg s slpeg ] elwdys J15 gols 83l s 51
sJg 3sg op Jelogdl Jop dewsplJs dend Jdwg doydomg 4 J3dg slag ol Gl Il Toplsg el §

st goee JINOOUUDDD equaratser oo (Y0000 OO00¢
< 000000 0000 ez e (000000DD0 emuaristier sgszey of pogoote HUI0 wges lesoe asds dioe

sl g [0 o sodes o0l 1210p 68 Blsus 3gobo]l 10 s5Bs Jd o ole o ol Iz Saogll g wlozls
ol @ligd gl sl &gz 38 gsdg e B3¢ Wlgeobe ol wlls ol 88 Jogs up pudy 200!

lpsot pese waew see IIINN00000 DO00OOOOOL a1 el erutouired. 55 ozls MMM swse o
o sgze o 00 vz sosz 131 o1 e s oo [0 s0lsws €6 £oo 8gemadl sustbpll 1os goig soo
equalifier s gz J 00 walbrdl Jdn0 zgoe

IJ'CJP

@Component

OQualifier("firstService")



public class FirstService implements MyService {

// tmplementation

@Component
OQualifier("secondService")
public class SecondService implements MyService {

// tmplementation

@Service

public class MyClientService {
private final MyService myService;

Q@Autowired
public MyClientService(@Qualifier("firstService") MyService myService) {

this.myService = myService;

/7 myService
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